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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927577
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459279697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmussing term in the fDllOWiﬂg letter series.

OHOHOHEOE, HOOKOROK, HOOHOHOH, XHOHOOHOH, HOHOOHOH, ?
Options:

1. % HOXEOHOHO

2. % HOXOHOXOK

3. ¥ HOHOHOOH

4, ® HOHOHHOO

Question Number : 1 Question Id : 5459279697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTeTRET 2157 S7aeT § oF Ug ®1 1T F)

DHEOHOEOE, XOOHOEOE, HOOHOHOH, XOHOCHCH, HOHOOHOH, ?
Options:

1. % HOXOHOHO

2. % HOHOHOHOH

3. ¥ HOHOHOOH

4 % HOHEOHHOO

Question Number : 2 Question Id : 5459279698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of words are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. * Rabbit : Carrot
2. ¥ Deer : Lion

2= % Horse : Hay

4. % Bird : Worms

Question Number : 2 Question Id : 5459279698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eqmg?wﬁﬁmﬁfﬁm ST G0 & © AT 3, o UF TS 36T 9ig o Saed 51 39 AlS! & A9 @ A7 AT ag o

Options:
1. % SO T



2, o Tgar . dv
3 % oTET T
4, % mft dE

Question Number : 3 Question Id : 5459279699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third term on the same basis as the second term is related to the first

Term.

JW o EDXE o BEHM Y
Options:

1. % Y5M

= ¥ CIO

3. % AGM

4. % ZFL

Question Number : 3 Question Id : 5459279699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 oo T e B ST 6 UG IE F | Hald e WE E gE ug Uge UG o Helldd gl
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Options:

1. % WIM

2 ¥ CIO

I % AGM

4 % ZFL

Question Number : 4 Question Id : 5459279700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I[f URETCAF is the code for CAPTURE then what is the code for FORTUMNE?

Options:

1. ¥ UNETRFO
Z % UENTROCF
3. % ENUTRCF
4. ¥ UNETFOR

Question Number : 4 Question Id : 5459279700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I CAPTURE &1 &1E § URETCAP 3T FORTUNE & 7507 ®i ar 57

Options:
1. # UNETRFO

2. % UJENTROF
3. ¥ ENUTROF
4. ¥ UUNETFOR



Question Number : 5 Question Id : 5459279701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The weights of 2 boxes are 2, § & 12 kilograms. Which of the following cannot be the total weight, in
kilograms, of any combination of these boxes?

Options:
1. 21
2. % 16
3% 19
4 % 22

Question Number : 5 Question Id : 5459279701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3 o F A 3, 6 3 13 e g1 el & & w9 ar e o st @ Rt Jf S w1 e o (R ) 5t gaiare

Options:
1. 21
2. % 16
2% 19
4 % 22

Question Number : 6 Question Id : 5459279702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a class of £9 students where girls are twice that of boys, Anita ranked 27th from the top. If there are 10
boys ahead of Anita, how many girls are after her rank?

Options:
1. % 21
2. %29
3. % 23
4 % 24

Question Number : 6 Question Id : 5459279702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

£ FTAT HT UF T4 H g1 Aeirdl As®! & G &, aFaT 16 & 27 o #0H W 31 Iig aH1aT & o 10 A% 8, 7 S0% 1@ &

Options:
1. % 21
2. ¥ 29
3% 23
4 % 24

Question Number : 7 Question Id : 5459279703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& said to B, "You are my father's father-in-law's only daughter's only son-in-law's son." Which of the
following staterments is true, if & is a woman?

Options:
1. % Aissisterof B



2. % A s maternal aunt of B
3. % A iz mother's mother of B
4 % A iz mother of B

Question Number : 7 Question Id : 5459279703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A B € gl " B UG 3 AT S UEHTE ol 9 U id ST o 07 81" PEieEd # § % 91 T a0 B, Aid A T AT 87
Options:

1. % 4 EdlagTs

2. % A F o ATHATE

T % 4 BEHAETH AETE

4 ¥ A EHTAETE

Question Number : 8 Question Id : 5459279704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the question two staterments are given, followed by two conclusions, I and I1. You have to consider the
staternents to be true evern if it seems to be at variance from commonly known facts. You hawve to decide which
of the given conclusions, if any, follows from the given statements.

Staterrent 1 All SUUYVS are cars,
Staterrent 2 Mo Car is a truck,

Conclusion I Mo SUY is a truclk,
Conclusion IT ;. All cars are 5UVs.

Options:

1. ¥ Cnly conclusion I follows
2. % Only conclusion 11 follows
3. % BothIand II follows

4 % MNeither [ nor II follows

Question Number : 8 Question Id : 5459279704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. e Tt 1 56 WPy ST el &
2 % el Ty 11 56 W SRIae el g
3 % [ I gHT gE Fd &

4 % T T EI] e feal g

Question Number : 9 Question Id : 5459279705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Cornplete the following number series.

240, 252, 225, 264, 216, 276, .

Options:

1. % 248
2. ¥ 204
3% 208
4 % 244

Question Number : 9 Question Id : 5459279705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

240, 252, 225, 264, 216, 276,
Options:

1. % 248

= ¥ 204

3% 208

4 % 344

Question Number : 10 Question Id : 5459279706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third nurnber on the same basis as the second rmaumber 15 related to the
first nurmber.

216 . 44012507

Options:

1. % 216

2 9217

3 % 225

4 % 226

Question Number : 10 Question Id : 5459279706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 Telepe T e B ST o T ST I AR e g e W g S g | ST & el ted Bl

216 244 .. 1257
Options:
1. % 2186

2. ¥ 217
3% 225
4. ® 226

Question Number : 11 Question Id : 5459279707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the wrong number in the givern series.

128, 192, 256, 432, 648
Options:

1.9 258

2. % 192

3% 432

4. % £48

Question Number : 11 Question Id : 5459279707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS 47T H TTed 6T 919 i

128, 192, 256, 432, 645
Options:

1.9 258

2. % 192

3% 432

4 % 548

Question Number : 12 Question Id : 5459279708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be interchanged o malke the below equation mathernatically correct?

125 +5x 45 -2+ 15 =65
Options:

1. % - u

ER

3¥ - -

4 % - +

Question Number : 12 Question Id : 5459279708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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125+ 5 x45 -2+ 15 =65
Options:

1. % - x

ER

3 - =

4 % - +

Question Number : 13 Question Id : 5459279709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to malke the below equation mathernatically correct’?

Fo-12+64 +4 =2 =30



Options:

1. % 2 12
Z w4 12
3. ¥ B4, 7B
4. % 2 B4

Question Number : 13 Question Id : 5459279709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et oy T wH T @ i e w0 @ wE e T T g1 St s e S N T ST TR
fe-l2+6d -4 =2 =230

Options:

1.% 2 12

Z %4 12

3. ¥ B4, 7B

4 % Z B4

Question Number : 14 Question Id : 5459279710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following figure, circle represents architects, triangle represents cricketers, square represents swirtimers
and rectangle represents fathers. which set of letters represents fathers who are swinumers?

G |/E D\
AN

/ \

f BN
Options:
1. % GED
2. ¥ HI]J
3 % ]C
4 % IF

Question Number : 14 Question Id : 5459279710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
1. % GED
= ¥ HI]J
3 % ]C
4. % [F

Question Number : 15 Question Id : 5459279711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two workmmen L and M start from the same point. L walks 45 m East, then turns left and walks 25 m. In the
meanwhile M walks 20 m South, then turns to his right and walks 15 m, then turns Morth and walks 45 m
wWhere is M with respect to L7

Options:

1. % &0 m East
2. ¥ B0 m West
3. % 20 m East

4 % 30 m West

Question Number : 15 Question Id : 5459279711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ol fie L #T M U 51 Toig & 4 #0d §1 L 45 m 0 7 31 T 8, T &0 347 § #1025 m =107 31 59 &= M, 20 rm gig
w1 T Ied g, T o1 R gad1 2 &R 15 Uied oaar &, T 302 1 o §2aT & oflT 45 m Iad1 21 L & derel 7 afd M Fg1 27

Options:

1. % gommd
2. ¥ 60 m okEam
2 % 30mud
4. % 30 m uEA

Question Number : 16 Question Id : 5459279712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the irmage that is related to the third image on the same basis as the second image is related to the first
irmage.

]
® O°'|R AR A |

m O |0 Al,.lA
I

Options:

A =
A D

1 W



W=
O A

N N
R /\
A O
O A

Question Number : 16 Question Id : 5459279712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

A =
A D

1 W



B
O A

£ R
R /\
A O
O A

Question Number : 17 Question Id : 5459279713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& figure series of & parts is given. Out of these 4 parts are labelled 4,E,C and D. Cne of these 4 parts is
incorrect. Find the incorrect part.

OB+

*

X

*

E

O

+ H

*

Options:
1. % 4
2 % B
3 % C
4 ¥ D

Question Number : 17 Question Id : 5459279713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T
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* O +H |O X|* 0|0

Options:
1. % 4
o ®E
3 % C
4 ¥ D

Question Number : 18 Question Id : 5459279714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following answer figure completes the pattern shown in the question figure?

Options:

o



Question Number : 18 Question Id : 5459279714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
FERET # & & | 30 AT, W ST H gy M Ued i T #al ae

Options:

=




Question Number : 19 Question Id : 5459279715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

@
AN

M N

Options:

@ 4

7

®
N &
Y
N

Question Number : 19 Question Id : 5459279715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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@
AN

M N

Options:

@ 4

7

®
N &
&
N

Question Number : 20 Question Id : 5459279716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Parts given in which option can be joined to create the pattern given in the question figure?

Options:

>

Question Number : 20 Question Id : 5459279716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. %
2
3 ®
4 ®
rerneral Awareness
Group Number : 2
Group Id: 545927482
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareress

Section Id : 545927482

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027578
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459279717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In ________ dance form, boys are dressed as wornen.
Options:
1. % Gotipua

2. % Baagh Nach
3. ¥ Ghumra

4. % Chhau

Question Number : 21 Question Id : 5459279717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

________ I F B, Fed Aipenst S e uE g
Options:
1. iifegan

. % T T

3. % U
4. ® TTF

Question Number : 22 Question Id : 5459279718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Mandi Fair is organized in the town of Mandi which is located in
Options:

1. ¥ Hirmachal Pradesh



2. % andhra Pradesh
3. % Maharashtra

4 % Kerala

Question Number : 22 Question Id : 5459279718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HET Hel BT AT HET g A PSS __ H Em

Options:

1. BUEe ngy
2 % amrmy
3. ® WERTY

4. ®

Question Number : 23 Question Id : 5459279719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The longest budget speech till date was delivered by finarnce minister

Note: For this question, discrepancy isfound in question/answer. So,this questl onisignored for all
candidates.

Options:

1. Arun Jaitley

2. Morariji Desal

. Manmohan Singh

4. Wirrmala Sitharamarn

Question Number : 23 Question Id : 5459279719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ECR:El T 3T T &1 e daT s 90T fS=7 =T 2m

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. S/ ST

. AR ST

3. HATE g
4, THAT A

Question Number : 24 Question Id : 5459279720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following taxes 15 1ot charged by the Central Government?

Options:

1. % Excise Duty

2. ® Custom Duty

2. % Corporation Tax
4 ¥ Sales Tax

Question Number : 24 Question Id : 5459279720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

g A R o # & I @7 W ] FET [ AT 87
Options:

1. % Joarg ged

2 ® dmrgew

3. %

4. Tl aw

Question Number : 25 Question Id : 5459279721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The _______ law of thermodynarmics states that the total amount of energy in any closed systerm always
rErAins the same.

Options:

1. * fourth
2 % third
3. % second
4. ¥ first

Question Number : 25 Question Id : 5459279721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEATTE ST & ________ o= o gt T ¢ o Tt ot g wone T § ST T e ATET gHAT JE Gl g

Options:

1. % =
o % fv
3. % gat
4 v g

Question Number : 26 Question Id : 5459279722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the fOllO‘.ﬁ.i"iﬂg alerments is used to Coat 3 non-stick coolkware’?

Options:

1. % Teflon

Z % Chlorine

3. % Gelatin

4. % Cyalic Acid

Question Number : 26 Question Id : 5459279722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET # 9 & Tod @7 IuAT A9- 160w FHaR Bl BT B o (o] T ST 57

Options:

1. & TFae

2 % FENE

3. % e

4. % Tepdieier e



Question Number : 27 Question Id : 5459279723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Apple 15 propagated by
Options:

1. # stern cuthings

= ¥ grafting
3. #* sucker rermoval
4. % pudding

Question Number : 27 Question Id : 5459279723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

VT FTIE _____________ BT TepaT ST 8
Options:

1. % g dr T

2. & e AT

z. % ga Ee
4. % gigm

Question Number : 28 Question Id : 5459279724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following body parts is affected by Typhoid?

Options:

1. ¥ Intestine
= % Ears

3. ® Skin

4. % Brain

Question Number : 28 Question Id : 5459279724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 7a © S &7 P @7 S AT 5raT a7
Options:

1. ama

2. % w

3. % TeRT

4 ® qgitqer

Question Number : 29 Question Id : 5459279725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MNarrmada river originates from ___________.
Options:

1. % Satpura Hills

= % Aravalli Range

3. #% Western Ghats



4. % Egstern Ghats

Question Number : 29 Question Id : 5459279725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR __ GARCTEEI
Options:

1. ¢ HageTuda

2 % aETEHl

z. % ghZmrae

4 % i

Question Number : 30 Question Id : 5459279726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The highest mountain of Maharashtra is

Options:
1. * Deomali

2. % Saramati
3% Anarmudi

4. ¥ Kalsubai

Question Number : 30 Question Id : 5459279726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TERTE F qad ST ad . H

Options:
1. ® ZammEr
o, % ARmEr

Z. % aEmET
4 & FodET

Question Number : 31 Question Id : 5459279727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following soils is also formed by leaching®?

Options:

1. ®¥ Red

2. % Black
3. # Alluvial
4. % Laterite

Question Number : 31 Question Id : 5459279727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeiET o & ® d7 g7 #iiT gRT At a1 St §e
Options:

1. % #e

2 % FTA



3 % Ui
4 & @i

Question Number : 32 Question Id : 5459279728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who built the Peshawar Stupa’

Options:

1. % Kumargupta
2. % Rajarajal
3. % Ashoka

4. % Kanishka

Question Number : 32 Question Id : 5459279728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSTaR £ T AT T ST ar?

Options:

1. % g

Question Number : 33 Question Id : 5459279729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhen was Eattle at Surajgarh fought?

Options:

1. % 1542
2. % 15ES
3. ¥ 1533

4. % 1555

Question Number : 33 Question Id : 5459279729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % 1542

= % 1565

3. ¥ 15332

4 % 1555

Question Number : 34 Question Id : 5459279730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Battle of Buxar fought?
Options:

1. ¥ 1750



2. ¥ 1764
3. % 1792
4. % 1785

Question Number : 34 Question Id : 5459279730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
&[T T e Frel ST T 277

Options:

1. % 1750
= ¥ 1764
3. % 1792
4 % 1785

Question Number : 35 Question Id : 5459279731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

He was a pioneer of chemical research in India. His book ‘History of Hindu Chemistry” was published in 1902,
Who 15 he’?

Options:

1. % ajit Singh

2. % Acharya Narendra Dev

2. ¥ Acharya Prafulla Chandra Ray
4. ® Amir Chand

Question Number : 35 Question Id : 5459279731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE W # T S o S e g Teeel AT Ty iR 1902 H Wt 3 o oy @i 57
Options:

1. % s/l g

2 % s g g

. ¥ T Uped =g ¢

4 % amlK g

Question Number : 36 Question Id : 5459279732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho is the author of 'One Century is Mot Enough'”?

Options:

1. # Shane Warne

2. ¥ Saurav Ganguly
3. % Sachin Tendulkar

4. % yyraj Singh

Question Number : 36 Question Id : 5459279732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"I HelT 5 AT EF o oI i a7



Options:
1. % gqemd
2. o dRa T

3. % TR dgew
4 R e Wy

Question Number : 37 Question Id : 5459279733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[UPAC stands for

Options:
1. ¢ International Union of Pure and Applied Chermnistry

2. % International Use of Physics and Applied Chermistry
= ® International Union of Physics and Applied Chernistry
4. % International Use of Pure and Applied Chemistry

Question Number : 37 Question Id : 5459279733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TUP AC T 0T Faren STaser _______________ 2l
Options:

1. ¢ Eexsma i ST Wi U Uess Hesl

2. % e g off o e qraes e

3. ¥ SOOI Giae #T T U UeATse difes T
4. ¥ oA I HTE T U UrAE S

Question Number : 38 Question Id : 5459279734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Accordingto , the maxirmum strength of Rajya Sabha to be 250,
Options:

1. ¢ article 80

2. % Article 55

3. % Article 90

4 # Article 55

Question Number : 38 Question Id : 5459279734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ & SJAR, T 97 &1 ATy GEaT 250 g aiam

Options:

1. ¢ argedg 80
2 % arfEdg 5o
3. % ardg 20
4 % arfEdg 9o

Question Number : 39 Question Id : 5459279735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



GOrernor subrmits s ther resignation to o _______
Options:

1. % President of India

2. % Chairman

3. % Vice President

4. % Speaker of Lok Sabha

Question Number : 39 Question Id : 5459279735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ST SETET T T e 3]

Options:

1. i

= ® aney

Z % gomEl

4. ¥ I ST

Question Number : 40 Question Id : 5459279736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 30th Surrrner University Games was held in

Options:
1. % [taly

2. % Russia
3. * Canada

4. % United States of Armerica

Question Number : 40 Question Id : 5459279736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
20 I QAT FAaraer @ __________ o AT e T am

Options:

1. ¥ zadt

2 % v

3. ® @dET

4 % TR T STCT

Arithrmetic Alality

Group Number : 3

Group Id: 545927483
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 545027483

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027579
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459279737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simplify: 12 +90fd xi(Z-2)-13 + =7
Options:

1. % Z0

2 % 21

3.9 22

4 % 23

Question Number : 41 Question Id : 5459279737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WAFE 12+ 90f4x(3-21-13 ¥ =7

Options:
1. % 20
z % 21
3.V 22
4. % 23

Question Number : 42 Question Id : 5459279738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simplify: {1 x 1 +2=x@2+3 xd+4d x4 =7
Options:

1.v7

2 % 14

3. % 21

4. % 49



Question Number : 42 Question Id : 5459279738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ARl X1 +2x(2+3xd+4d x4 =7

Options:
1.9 7
2 % 14
3 % 21
4 % 49

Question Number : 43 Question Id : 5459279739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simplify: Sof2 -4+ 2-5x24+60f3-2=7
Options:

1. %5

. ® 55

3. %9

4. 9 a5

Question Number : 43 Question Id : 5459279739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WATC ST2 -4 +2-5SxX2+6FI-2=7

Options:
1. % 8
2 %85
3 % 9
4 ¥ 95

Question Number : 44 Question Id : 5459279740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: 1 -3of5+(24+3)="7
Options:

1. %2

Z %1

3. 0% 1

4 W -z

Question Number : 44 Question Id : 5459279740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 1 -3FS - (2+3)=7
Options:

1.% 2

2 %1

3% -1

4 & -2



Question Number : 45 Question Id : 5459279741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: ¥: -3+ 3% -M+ -3+ 4%="7
Options:

1.% 14

= 9 145

3. %1%

4 ® 155

Question Number : 45 Question Id : 5459279741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT Ve -+ H- M+ M-+ ¥=7
Options:

1.% 14

2. ¥ 145
3. %15
4 % 155

Question Number : 46 Question Id : 5459279742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two friends purchased Sarmsung phones priced Rs. 12,000 and Rs. 10,000 respectively. Two more friends
purchased LG phones priced Rs. 15,000 and Rs. 18,000 respectively. If the friends received a discournt of 5
percent on Samsung phones and 10 percent on LG phones, find the average purchase price?

Options:

1. % Rs 13750
2. % Rs 12050
3. ¥ Rs 12650
4 % Rs 12375

Question Number : 46 Question Id : 5459279742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ZiEat = SHET B ES, e HAT wH 12,000 #0073 10,000 #0731 2F ST aed! o LG & B9 Gile, e &g
FHa 15,000 707 &7 18,000 207 g1 I Sed! @ @ET BiF 0% S Widad &7 LG B W 10 uidad & go it g, argHf &
AT |G, G A1 Fe 7

Options:

1. % 13750 @70
2. % 13050 #7O0
3. ¥ 12650 707

4 ® 12375 #0

Question Number : 47 Question Id : 5459279743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arun scored 57, 90, 86 & 88 in four subjects. What should be his score in the fifth subject to obtain net 90
percent?

Options:



1. % 97
2. % 43
3. ¥ 99
4 % 100

Question Number : 47 Question Id : 5459279743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
arem TR Tt # 87, 90, 86 oK 88 TR O g 90 Uit oTH @ & o o e § 36 S i F= g Ay

Options:
1. % 97
2. % 98
3. ¥ 939
4 % 100

Question Number : 48 Question Id : 5459279744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the radius and height of cone is increased by 2 percent and & percent respectively, what is the percentage
increase in volurme round off 1o 1 decimal)?

Options:

1. ¥ 10.30 percent
2. % 210 percent
2. % 12,40 percent
4 % £ 40 percernt

Question Number : 48 Question Id : 5459279744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe g & T o FaTg w2 Hidad ST 6 Uit ag a1 &, a7 Sad § Widad gy 397 & (1 SIAAd JoF qTie &7 67

Options:

1. % 10.30 uidea
o % g 10udaT
3 % 12 40 nidem

4 % g 40 UidaT

Question Number : 49 Question Id : 5459279745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& seller marks up his price by 25 percent and then offers a discount of 22 percent. If his original sale price is
Es. 1,000 find the new sale price?

Options:
1. % Rs. 837.50

2. % Hs 875
3. % Hs. 945
4 % Hs 9625

Question Number : 49 Question Id : 5459279745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

gﬁﬁmﬂ;@m‘—ﬁfﬁnﬁzs Tid AT =TT & ST T 33 Uid e &1 ge 2a71 51 I I9w g f9wd Gear 1000 #0078 1 A7 feehl gear
1T T

Options:

1. % 837.50 %07
2. % B7L 0
2% 945 T

4. % 962 5 w0y

Question Number : 50 Question Id : 5459279746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A statue is made using 20 percent iror, 40 percent cerment and 40 percent sand. What will be the ratio of iron
to cemnent if the sand is replaced by equal parts of iron and cement?

Options:
1. % 322
z ¥ 23
3% 43
4 % 34

Question Number : 50 Question Id : 5459279746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
w@?ﬁo nidard dilg, 40 Wi THe 3 40 Aidad & &7 I S aaTs T8 51 Fie, dle ST S HT & TH 90 g7 d &1
TS AT AN TT Alg F1 S IHe & ST T g

Options:
1. % 32
2. ¥ 23
2% 43
4 % 34

Question Number : 51 Question Id : 5459279747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa=2b=3cfinda+b-c:b+c+ayic+a-b?
Options:

1.% 7:-1:5

2. % 3.2 3

w3223

4 ¥ 7:11:5

Question Number : 51 Question Id : 5459279747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Aea=2b=3ci@+b-C:b+c+a): c+a-b) TTH?
Options:

1. % 7:-1:&

2. % 3:2:3

3. %3223



4 % 7:11:5

Question Number : 52 Question Id : 5459279748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the time required for an amount to triple if simple interest is 20 percent p.a.?

Options:

1. ® g vears
2. ¥ 10 vears
=% 12 vears
4 % 15 vears

Question Number : 52 Question Id : 5459279748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTe; AT =TT 20 Wiersrd Wik =g & o1 e T0it 7 Fvar e @ fony ferair em anfgn?
Options:

1. % gad

2 ¥ 10

3 % 1z

4 ® 15

Question Number : 53 Question Id : 5459279749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The tyre of a bicycle has a circumference of 250 ol It rotates 20 times in 20 seconds. Calculate the speed of
the cycle?

Options:

1. ¥ 2E5mjs
2. % 45m/s
=% Zmfs

4. % SEmfs

Question Number : 53 Question Id : 5459279749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e ATE TR & TR B 250 crmn F R gt f1 9 20 ¥%s # 20 a1 gt B At & i A we
Options:

1. ¥ 2E5m|s

2. % 45m/s

3% 2ms

4. % Smfs

Question Number : 54 Question Id : 5459279750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rohan started running every day in the morning for 1.5 hours. On first 4 days he ran at an average speed of 5
krnjh, on the next 2 days he ran at average speed of § km(h, and on the 7th day he ran for 2 hours at an
average speed of 7 kimn/h. What is the average speed for the entire week?

Options:



1. ® 5 2kmjh

2 ¥ 564 kmfh
2. % ckm/h

4 % £ Z2kmfh

Question Number : 54 Question Id : 5459279750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fgsrﬁ:rgagls'd%%ﬁﬁqaﬁgﬁm 4 BT 95 5 km/h & T T & SiEaT AT, ame 2 feAt 8 6 kmjh & o
dElEara, K 7 & A ag 7 ken Uid o &1 16T i & 2 O 9% oiodT an O GAE § SEE! ST 1id 74T 37

Options:

1. % 5 2km/h
2. ¥ S E4km/h
2 % Ekm/h

4. % §.2lkm/h

Question Number : 55 Question Id : 5459279751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 men cormplete 17/3rd job in 7 days. How many additional men required to complete remaining job in 7 davs.

Options:
1. % 10
2 ¥ 15
3% 20
4 % 30

Question Number : 55 Question Id : 5459279751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 qo 7 At § e &7 13 af 90T @1 3 51 7 A1 # 99 9 0H 02T @ o o e st feon qoat & srasaar g

Options:
1. % 10
2. ¥ 15
3% 20
4. % 30

Question Number : 56 Question Id : 5459279752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A tank takes 3 hours to fill through inlet and € hours to empty through outlet. How rmuch time will it take to fill
the tark if both inlet & outlet are open?

Options:
1. % B hrs

2. % 45 hrs
% % Zhrs
4 % 2 hrs

Question Number : 56 Question Id : 5459279752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

T ZehT Wl T1ET 3F ATETA & W o 10T 2 68 ofiY TAepTeerT & ATeay & 6 O WIeT &0 & o0 &1 5 Ti 2ol 3 e gt
ol & AT Tl I A B T ' Ay

Options:

1. v g
o % 45T
3 % zE
4 % o

Question Number : 57 Question Id : 5459279753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the maximum number of spheres of radius 2 om that can be formed by melting an iron cube of wolume
704 cu crld

Options:
1. %7
2. % 14
3.9 21
4 % 28

Question Number : 57 Question Id : 5459279753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 crm T &t arfeeaw et &1 Aa @, S Alg & 704 cu om MTHa T Jie 5 S Tt a9 A7 a@d i a7

Options:
1. %7
2. % 14
3. ¥ 21
4 % 28

Question Number : 58 Question Id : 5459279754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Calculate the perimeter of 4 square having area 32 5q. cm?

Options:

1. % 8om

2 % 8J/2com
2. % l6cm
4 ¥ 162 cm

Question Number : 58 Question Id : 5459279754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
32 50 Crml ATt U a1 & OieHT & TIf=T 37

Options:
1. % Bom

2 % g./2cm
3. % 16 cm

4 ¢ 16-/2 cm



Question Number : 59 Question Id : 5459279755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Refer the pie chart and calculate the nurmber of days where sales exceed Rs. 5000, if total weekly sales is Es.
25000, The degrees showrl in the pie chart are in proportion to the sales.

Daily Sales

Options:
1. % 4
o ® 3
302
4 ® g

Question Number : 59 Question Id : 5459279755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS =TE & 31 3 ToT @1 HEdm &1 0T @ STgT Tkt SO00 B0 & S1iek 51 A1g Fool AHTGE fsohl 25000 S0 1 8 018 =e §
Toramy oy T fekY % e © 81

CAGE RG]

Options:
1. % 4
o % 3



3 ¥z
4 #® g

Question Number : 60 Question Id : 5459279756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Refer the histogram that shows the nurmber of persons who voted in each class interval of total nurnber of 100
persons eligible to vote in a city. How many persons voted in class interval of S0-757

25

Number of persons Voted

0-25 2550 50-75 75100
Class intervals

Options:
1. % 22
2 %18
3. ¥ 23
4 % 17

Question Number : 60 Question Id : 5459279756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T8¢ H ATEH T4 & o 0T 100 S0kl &1 el a1 & Tedd a1l SaOe § Baad @0 aTel ikt &l ST & gaidl
2 T T S0-75 & a1 S § [ st 3 aaee T

25
24
3
22
21
20
19
18
17
16
15

AT F=T Iy =afEgat fr gear

0-25 25-50 50-75 75-100
FET Hedd Tl

Options:
1. % 22

> ® 17



3.9 23
4 % 17

General English

Group Number : 4
Group Id : 545927484
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral English

Section Id : 545927484

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section | d: 545927580
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459279757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Ey the time I finish | this semester, [ would have | reads ten novels.
Options:

1. # By the tirme I finish

Z. % this semester, I would have

2. ¥ reads ten novels.

4 % Mo Error

Question Number : 61 Question Id : 5459279757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

Ev the time I finish [ this semester, I would have | reads ten novels.
Options:

1. * By the time I finish

2. * this sernester, [ would hawve

2. ¥ reads ten novels.

4. % Mo Error

Question Number : 62 Question Id : 5459279758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

There are | the dozen eggs in | the refrigerator.
Options:

1. ® There are

= ¥ the dozen eggs in

3. % the refrigerator.

4. % Mo Error

Question Number : 62 Question Id : 5459279758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

There are | the dozen eggs in | the refrigerator.
Options:

1. * There are

2. ¥ the dozen eggs in

2 % therefrigerator.

4. % Mo Error

Question Number : 63 Question Id : 5459279759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaning fully.

Jarmes began teaching this new approach to (Solves equaticons 1o students) throughout the world,
Options:

1. ¥ solve equations to students

2. % solving equations to students

2. % solve equations along students

4. % Mo correction required

Question Number : 63 Question Id : 5459279759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

James began teaching this new approach to (solves equations to students) throughout the world.
Options:

1. ¥ solve equations to students

2. % solving equations to students

2. % solve equations along students

4. % Do correction required

Question Number : 64 Question Id : 5459279760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

Evidence shows that even in the direst of situations, therei is a chance for) positive emmotions and growth
Options:

1. ® isa chances for

2. % isan chance for

2. % isa chance to

4. ¥ INo correction required

Question Number : 64 Question Id : 5459279760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sertence meaningfully.

Evidence shows that even in the direst of situations, therei is a chance for) positive emotions and growth
Options:

1. ®# isa chances for

2. % isan chance for

2. % iz a chance to

4. % No correction required

Question Number : 65 Question Id : 5459279761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The police read the burglar his rights and then forcefully threw him
Options:

1. % upon

2 % into

3. % under

the police car.

4. % gway

Question Number : 65 Question Id : 5459279761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

The police read the burglar his rights and then forcefully threw him
Options:

1. % upon

2 ¥ into

= % under

4 % away

the police car,

Question Number : 66 Question Id : 5459279762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Thebook fell ___________ the shelves.
Options:

1. ¥ between

2. % into

2 % around

4. % aboard

Question Number : 66 Question Id : 5459279762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Thebook fell ___________ the shelves.
Options:

1. ¥ between

2. % into

2 % around

4 % aboard

Question Number : 67 Question Id : 5459279763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Jackson werlt
Options:
1. #* into

the edge of the lake to find a fishing spot.

2. % betweern
= % around

4. # aboard

Question Number : 67 Question Id : 5459279763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes the sentence meaning fully.

Jackson went __________ the edge of the lake to find a fishing spot.
Options:

1. * into

2. % between

3 % around

4. % aboard

Question Number : 68 Question Id : 5459279764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Thereis ______ hour left before the flight to Dubai takes off.
Options:

1. %a

2. ¥ an

2 % the

4 % our

Question Number : 68 Question Id : 5459279764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

There is hour left before the flight to Dubai takes off.

Options:
1. %a

2. ¥ an
3. ® the

4 % our

Question Number : 69 Question Id : 5459279765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenices of a paragraph have been jumbled up, and labeled P, &, R and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P:Personal property, also referred to as mowvable property, is anything other than land that can be the subject
of cwnership, including stocks, money, notes, Fatents, and copyrights, as well as intangible property.

:Real property is land and ordinarily anything erected on, growing on, or affixed to it, including buildings
and crops.

R:Most of the legal concepts and rules associated with both types of property are derived from English
Corrumon Law,

S:There are two types of property: real property and Personal Property.

Options:

1. % SQRFP
2. ¥ SPOR
2. % PROS
4 % PSOR



Question Number : 69 Question Id : 5459279765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentenices of a paragraph have been jumbled up, and labeled P, &, R and 5. Select the option that gives the
correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

P:Personal property, also referred to as mowvable property, is anything other than land that can be the subject
of cwnership, including stocks, money, notes, Fatents, and copyrights, as well as intangible property.

:Real property is land and ordinarily anything erected on, growing on, or affixed to it, including buildings
and crops.

R:Most of the legal concepts and rules associated with both types of property are derived from English
Corrumon Law,

S:There are two types of property: real property and Personal Property.

Options:

1. = SORP
2. % SPOR
= = PRGOS
4 = PLOR

Question Number : 70 Question Id : 5459279766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The senterices of a paragraph have been jurrbled up, and labeled P, & R and 5. Select the option that gives the
correct sequence in which these senterces should be rearrangad to forma meaningful paragrapl.

P:Chawla was the first [ndian worman to fly in space. She spoke the following words while traveling in the
weightlessness of space, "You are just your intelligence.”

:In 1976, After getting a Eachelor of Engineering degree in Aeronautical Engineering from Punjab
Engineering College, India.5She moved to the United States in 1982 and obtained a Master of Science degree in
Aerospace Engineering from the University of Texas at Arlington in 1984,

R:Kalpana Chawla was born on March 17, 1962, in Karnal, India As a child, Kalpana liked to draw pictures of
alrplanes.

S:Chawla graduated from the Tagore School, where she was a high-performing student.

Options:

1. ¥ RE5QP
2 = PORS
= = ORFS
4 = PSRO

Question Number : 70 Question Id : 5459279766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sentences of a paragraph have been jurmbled up, and labeled P, & R and 5. Select the option that gives the
correct sequence in which these senterces should be rearranged to forma I'ﬂEElI'liﬂgful paragrapl.

P:Chawla was the first [ndian worman to fly in space. She spoke the following words while traveling in the
weightlessness of space, "You are just your intelligence "

:In 1976, After getting a Eachelor of Engineering degree in Aeronautical Engineering from Punjab
Engineering College, India. She moved to the United States in 1982 and obtained a Master of Science degree in
Aerospace Engineering from the University of Texas at Arlington in 1954

R:Kalpana Chawla was born on March 17, 1962, in Karnal, India As a child, Kalpana liked to draw pictures of
alrplanes.

S:Chawla graduated from the Tagore School, where she was a high-performing student.

Options:



1. ¥ RSQP
2. % POQRS
3. % QRPS
4. % PIRCQ

Question Number : 71 Question Id : 5459279767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaning ful.

Feena the exarm due to chickenpos.
Options:

1. % st

2. ¥ missed

3. % myst

4. ® rmeest

Question Number : 71 Question Id : 5459279767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word (HOMONYM) that fills in the blank and makes the sentence meaning ful.

Reena ________________ the exam due to chickenpox.
Options:

1. % st

2. ¥ missed

2. % myst

4. % meest

Question Number : 72 Question Id : 5459279768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 Closest in meaning to the word Zivenn Delosr

EMEARGC
Options:

1. ® Erilliarnce
= % lgnorance
3. ¥ Ean

4. % Intelligent

Question Number : 72 Question Id : 5459279768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning to the word given belows.

EMEARGD
Options:
1. #* Erilliance

2. ® [gnorance



2. % Ban

4. % Intelligent

Question Number : 73 Question Id : 5459279769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is opposite in meaning to the word given below.

COMSECEATED
Options:

1. % Provincial
2. ¥ Desecrated
3. % Anarchy

4. ® psurge

Question Number : 73 Question Id : 5459279769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite i meaning to the word given below.

COMNSECRATED
Options:

1. ® Provincial
Z ¥ Desecrated
3. % Anarchy

4. % Upsurge

Question Number : 74 Question Id : 5459279770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:

1. % ideosincracy
2. # jdiosyncracy
2. % idecsincrasy

4 ¥ idiosyncrasy

Question Number : 74 Question Id : 5459279770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ jdecsincracy
Z % idiosyncracy
3. % idecsincrasy

4. ¥ diosyncrasy

Question Number : 75 Question Id : 5459279771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that best expresses the meaning of the idiom or phrase given below.

A gainst the clock!

Options:

1. * todo something badly or cheaply

2. % to fee] depressed

2 % to judge someone or something based solely on appearance

4. % to be working in great hurry

Question Number : 75 Question Id : 5459279771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

A gainst the clock!

Options:

1. * todo something badly or cheaply

2. % to feel depressed

2% to judge someone or something based solely on appearance
4. % to be working in great hurry

Sub-Section Number: 2
Sub-Section 1d: 545927581
Question Shuffling Allowed : Yes

Question Id : 5459279772 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read this passage carefully and choose the best answer from each of the options.

Dadasahel Phalke,is considered the father of the Indian cinerna. Fhalke was credited with making India’s first
indigenous feature film and spavming the burgeoning Indian film industry.

A a child, Phalle displayed great interest in the creative arts. Determined to pursue his drears, he joined the
Sir J.]. School of Art, Bombay now Mumtbbai), in 18385, While there he pursued a variety of interests, including
photography, lithography, architecture, and armmateur dramatics, and he becarme adept even at magic. while
working at the lithography press of celebrated painter Ravi Varma, Phalke was significantly influenced by a
series of Varma’'s paintings of the Hindu gods, an impression that was evident in Phalke's own portrayal of
various gods and goddesses in the mythological films he later made.

He went to London for two weeks to learn filmmaking techniques and founded Phalke Films Company. He
imported the hardware required for the filmmaking and exhibition from England, France, Gerrmany, and the
United States. Phallke shot a short film Anloarachi Wadh (Growth of a Pea Plant) to attract investors for his
venture. He published adwvertisernents in various newspapers calling for the cast and crew. 45 no wormern were
available to play fermale leads, male actors performed the female roles.

His debut film, Raja Harishchandra, which was the first Marathi cinema, was the first Indian mowvie in 1913,
and is now known as India's first full-length feature. He made 95 feature-length films and 27 short films in
his career, spanning 19 years, untl 1937, including his most noted works: Mohini Bhasrmasur (131 3),
Satyavan Savitri (1914), Lanka Dahan (1917, Shri Krishna Janma (1918) and Kaliya Mardan (1919).

Sub questions

Question Number : 76 Question Id : 5459279773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



According to the passage, which among these was the first marathi cinema /movie to be made?
Options:

1. ¥ Mohini Bhasmasur

Z % Satyavan Savitri

3. ¥ Lanka Dahan

4. ¥ Raja Harishchandra

Question Number : 77 Question Id : 5459279774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which famous artist's lithography press did Dadasaheb work at?
Options:

1. ¥ Ravi Varma

2. % MF Hussain

2. % Raja Harishchandra

4. % Raja Ram Mohan Roy

Question Number : 78 Question Id : 5459279775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, Dadasaheb Phalke studied all of these other than
Options:

1. ¥ Architecture

Z % Photography
3. ¥ Philosophy
4. % Dramatics

Question Number : 79 Question Id : 5459279776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, who plaved the role of women in the movies made by Dadasaheb Phalke?
Options:

1. % Married Wormen

2. % Children

3. % Widows

4. ¥ Men

Question Number : 80 Question Id : 5459279777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which of these was made by Dadasaheb Phalke to attract investors?

Options:

1. ¥ Lanka Dahan

= ¥ Anlkurachi wWadh

2. % Raja Harishchandra

4. % Mohini Bhasmasur

Question Id : 5459279772 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead this passage carefully and choose the best answer from each of the options.

Dadasaheb Phalke is considered the father of the Indian cinermna. Fhalke was credited with making India’s first
indigenous feature film and spawming the burgeoning Indian film industry.

A a child, Phalke displayed great interest in the creative arts. Determined to pursue his drears, he joined the
Sir J.J. School of Art, Bombay now Mumbai), in 1285, While there he pursued a wariety of interests, including
photography, lithography, architecture, and armmateur dramatics, and he becarme adept even at magic. Wwhile
working at the lithography press of celebrated painter Ravi Varma, Phalke was significantly influenced by a
series of Varma’'s paintings of the Hindu gods, an impression that was evident in Phalke's own portrayal of
various gods and goddesses in the mythological films he later made.

He went to London for two weeks to learn filmmaking techniques and founded Phalke Films Company. He
imported the hardware required for the filmmaking and exhibition from England, France, Gerrmany, and the
United States. Phalke shot a short film Anloarachi Wadh (Growth of a Pea Plant) to attract investors for his
venture. He published adwvertiserments in various newspapers calling for the cast and crew. AS 10 wormen wers
available to play fermale leads, male actors performed the female roles.

His debut filiry, Raja Harishchandra, which was the first Marathi cinema, was the first Indian movie in 1913,
and is now known as India's first full-length feature. He made 95 feature-length films and 27 short films in
his career, spanning 19 years, until 19537, including his most noted works: Mohini Ehasmasur (1913),
Satyavan Savitri (1914), Lanka Dahan (1917, Shri Krishna Janma (1918) and Kaliya Mardan (1919).

Sub questions

Question Number : 76 Question Id : 5459279773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which among these was the first marathi cinema /movie to be made?

Options:

1. % Mohini Bhasmasur
2. ® Satvavan Savitrl
3. % Lanka Dahan

4. % Eaja Harishchandra

Question Number : 77 Question Id : 5459279774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which famous artist's lithography press did Dadasahel work at?

Options:

1. ¥ Ravi Verma

2. # MF Hussain

2. * Raja Harishchandra
4. % Raja Ram Mohan Roy

Question Number : 78 Question Id : 5459279775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, Dadasaheb Phalke studied all of these other than
Options:

1. % Architecture

2. % Photography
2. % FPhilosophy
4. % Dramatics



Question Number : 79 Question Id : 5459279776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, who playved the role of women in the movies made by Dadasaheb Phalke?

Options:

1. % Married Wormen
2. % Children

3. #® Widows

4 ¥ Men

Question Number : 80 Question Id : 5459279777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which of these was made by Dadasahiel Phalke to attract investors?

Options:

1. % Lanka Dahan

Z % Anlkurachi wWadh

3. # Raja Harishchandra

4. % Mohini Ehasmasur
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Question Number : 81 Question Id : 5459279778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TteET v # o Bwedt § & 39 Swew @1 a9 o A1 ey o a5t |t Tede & 9t @ agt Baer gh

3T2L + T
Options:

1. & arermid
2. % arerEid
. % armid
4. % grrémid

Question Number : 81 Question Id : 5459279778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt na & o Seedt § & 39 Sy o7 =2 o6 = iy 1o a8t 9ty Hea & 9 e a8 Beew g

a7ef + T
Options:

1. & arrmid
2. % el
3 % e
4 % arhm

Question Number : 82 Question Id : 5459279779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Awedt § 9, 39 Aoy @ 909 & 91 150 T Seg & 951 90 Teeg @7 Tded gn

Teramer
Options:

1. % Mo+ 7a
oV T+ A
. % e+ oTA
4. % Jr+ m@ma

Question Number : 82 Question Id : 5459279779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & ow et § 9, 39 ey @71 o009 #9120 70 se F agr 9ty Bede o1 Baew gn

Teramer
Options:

1. % e+ 7a
o ¥ I+ A
. % e+ oTA
4. % Jr+ @A

Question Number : 83 Question Id : 5459279780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TEimET ng #, or et # € 39 ey @7 oh9 @ S IiadrEes ST & 951 deed 8

Options:

1. % gear
2. % .

3 ¥ s
4 % FUT

Question Number : 83 Question Id : 5459279780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng §, o Sweul § 9, 39 [9@e0 &1 209 ¢ A7 WigaTed G=1 #1951 0@ 2]

Options:

1. % T
2. % md

3. ¥ Iae
4 % Zu¥

Question Number : 84 Question Id : 5459279781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEARET vg # gr Teet # € 39 Beey @1 509 w8 1 By T e uaiaar’ geg @1 9n dwed Tl 8l

g
Options:

1. % Fag
o ® agw
z. ¥ Faeg
4 % aggd

Question Number : 84 Question Id : 5459279781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateT v # ow Bwedt § 9 39 Swen @1 =749 o At =y 7 seg ¥ vafaamdt seg @ agt Heer =gt 3

AT
Options:

1. % gam
2 % agwm
3. o Fae
4 R aggd

Question Number : 85 Question Id : 5459279782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW Awedl § 9, 39 A5l [dwed &7 90 B¢ A1 106 w09 & o] IR 0weT g

Options:
1. %



2 % diz
3 % diw
4. ¥ iz

Question Number : 85 Question Id : 5459279782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng §, o Tweul § 8, 30 951 [oaed &1 90 @ A1 10 w0 & Te0 SR fHaed n

Options:
1. % 9=
= % diT
3 % O
4  Hi=

Question Number : 86 Question Id : 5459279783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT v or Teent # 4 39 Heey @ 20T w1 1 Ty T e & aemeEt geg @ Been a5 8l

agd

Options:

1. % @gd
2 ¥ Fa
3 % v
4. * Y

Question Number : 86 Question Id : 5459279783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng # o Bwedt § 9 39 Swen @7 a9 & =t =y 7 seg & aamedt geg @ Bwew a5t 8

agd

Options:

1. &gd
2. ¥ Tl
3 % e
4 IR

Question Number : 87 Question Id : 5459279784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferET v #, o Swed! 8 9, 39 981 Haew &7 g9 w1 T w0 # 00 Sugs Jeg #1911 dwe gl

Options:
1. vV
2 %7
2 %7



4. % v

Question Number : 87 Question Id : 5459279784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeRaT na 8, oW el § 9, 39 Fa1 fowed F1 90 B¢ AT i £ & 0] I0H e, %1 T51 [o@ed ol

Options:
1. ¥V
o ® 0
2 %7
4 % 3

Question Number : 88 Question Id : 5459279785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THmET vg H, ox Hweat # €, 39 Twew o oad B A1 OF T8 F1 95 0wed o)

Options:

1. % gago
2 ® HEREr
Z. " wvet
4 ® FEm

Question Number : 88 Question Id : 5459279785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeaT vg #, ox Beedt § 9, 39 owey 37 099 %% 7 g g 77 91 odey 3

Options:

1. ® gHgt
2 ® FERCEr
2 & HEgt
4 ® FEw

Question Number : 89 Question Id : 5459279786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T vy # oW et # 9, 39 SHwen @ o0 w1 8927 Qe 9T 95 8
Options:

1. % &

2. % |

A To A

4. % {gar

Question Number : 89 Question Id : 5459279786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TafeTET mg 6, o faweul § 9, 39 fowew w7 22 @ S HaT giee G 95 g

Options:



1. % e
> % e
3. ¥ FEAgH
4. % gar

Question Number : 90 Question Id : 5459279787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeTET ng #, o Heedt #§ &, 39 fHwey 37 a9 w1 A agoaa 9eg 97 ded arw e §)

Options:

1. % FuzT
2. % g
3 % FAET

4 % @

Question Number : 90 Question Id : 5459279787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ET we #, T et # &, 39 fowey 1 o % 1 dagaed Jed @7 6 seeT Hwed 3]

Options:

1. % mu=T
2. ¥ g
= % FET

4 * @

Question Number : 91 Question Id : 5459279788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wag §, = et # 4, 39 fHwen @ e o S 965G & Sge Jeg B e ST fewed g

STETER
Options:

1. % aremey
= ® T
3. ¥ arAmEe
4 % greqTuEd

Question Number : 91 Question Id : 5459279788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
AT W §, = fHwedt # 4, 39 fEwen @7 79 w8 S 5g & Sy fe B Had ST fHwe g

STEOTUR

Options:
1. % ayeamer

2. % e
3. ¥ AT
4. % apmeETd



Question Number : 92 Question Id : 5459279789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WY ng §, IR et § 9, 39 ey &1 o2e w0 A @ ee § 75U 10 S5 & SIE & Yoy J=w GdqTH T |5 dwed gh

Options:

1% (g5 Frem S o 7 A

o ¥ (T TATFCIRT a7

Z. % (A ST AAUES T W adT H CET )
4 % (W) IHF AT AW FAL TGP

Question Number : 92 Question Id : 5459279789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va . ox Beedt § 9, 39 Swe @1 o9 o7 1 @iew # iU 77 95 & ajar o 199 a=® -0 &1 @51 deed gh

Options:

1% (g T e el o &7

2. ¥ (@F) FAT W IETEY

3. % () st AATET T S a=T B T )
4 R (qW) IAF A AT FAT TGP

Question Number : 93 Question Id : 5459279790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o mg #, oW fwedt § 9, 39 Towed @71 a9 & 1 187 7 a1 & @ & 9 &1 agl awed 5

AT 31T 41T 1 e U uTel 51
Options:

1. ® Fqed 7S Y@

2. % aEy YaETe

3. % amuf T

4. TS ATSIdE T

Question Number : 93 Question Id : 5459279790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 Teew #7209 @ 1 Ty T a1 & w1 o 95 @ Gl dwed g

ST, T 4T &1 6 O 071 11
Options:

1. * pdpd 0g gaaTe

2. ® oy gaE

3. % amuf T

4, & T AT ETA

Question Number : 94 Question Id : 5459279791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateET vg #, o Bweat § 9, 39 Pwen @1 a9 w6 =1 =g my aer & g g o A @ we et Heed 3

FUAT g1 AT



Options:

1. fereaef

2. % g

3. % magnf

4, % Tysref

Question Number : 94 Question Id : 5459279791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or et # 4 39 Beew o1 229 @ 51 oy T are & TR g 3 O 9 ge s Hee B

FOT g S50
Options:

1. & et
2. ® wrgred
3. % daegef
4. ® Trcrref

Question Number : 95 Question Id : 5459279792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . o Ewedt 8 9, 39 ey %7 o3 3 7 150 7 geTa & oy |gt arf arar Hewed 2

TTE &1
Options:

1. % G g
2. % g T
3. ¥ e EeT
4, ¥ g FAT

Question Number : 95 Question Id : 5459279792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

TS ST
Options:

1. % QT AT
2. % g AT
z. o T g
4. ® FTTE HeAT

Sub-Section Number: 2
Sub-Section Id: 545927583
Question Shuffling Allowed : Yes

Question Id : 5459279793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)



Juestion Label - Comprehension

et oy Ty e @ e e g o o Ty v & waion 5o g

m—wnﬁ&ﬁaw%ﬁq%&w BT CTET el 31 WIed § Aea i o Toramatt &Y ee=ert @7 aui T A7 |
THieiaT T T & &7 %Wﬁ?m@ﬁﬁmﬁ&ﬁﬁé TAIT FIAT THT o T1T e d 5i= aret feraa,
TeTat 3T Eal IR ECIHREE LS T & T TR & Shale U U @i Tt 3 el T

Y F-Tohd T TAFd 1 51 AT | el Ul &1 A0 51 a7 51 Fiadl # Tiiad T4 e i eaiadt, ge-rsl oy et @
Ui g HHAT 7, T gl 11 Aehd T g fof ick T T &7 et & Teede 31 ieaT g sam T g1 Uer-Ue W ST dfi-wdt
FT o U deg, & ol <17 = TeRT 1T w2 ﬁqu&wﬁmaﬁ—dﬂmﬁﬁaﬁqﬁ T T T THT & AT
SSEd T TR S 4 SIged B 0 agd ST9 H T B WA Wb e gl o1 WeRTe T 7 1T, TelT were oy St o e g

Sub questions

Question Number : 96 Question Id : 5459279794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e | Teramatt &l Teaart @7 aui oy T 51T 87

Options:

1. % @ag

2. ® gt
3 % et

4 & seaf

Question Number : 97 Question Id : 5459279795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teraor war § T 2 g1 wear 27

Options:

1. % gearat

2 % et

2. ¥ ugrf

4 ® giferfdt

Question Number : 98 Question Id : 5459279796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Heie, o STIAR ST &F sae) fEead a7
Options:

1. % R

2. ¥ T

z % ggpf

4 % girierid

Question Number : 99 Question Id : 5459279797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TH | W - AT Adod B TaaE Ta 87
Options:

1. v TR

2. ® SEmear

3. % ag



4 ®

Question Number : 100 Question Id : 5459279798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH A F PIE IUGH ddw-
Options:

1. % o & AT OeAT

o ® e oft oideais

2. ¥ e & BrE wer

4 % AT & e

Question Id : 5459279793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension

et oy Ty e @ e e g o o Ty v & waion 5o g

m—wnﬁ&ﬁaw%ﬁq%&w BT CTET el 31 WIed § Aea i o Toramatt &Y ee=ert @7 aui T A7 |
THieiaT T T & &7 %Wﬁ?m@ﬁﬁmﬁ&ﬁﬁé TAIT FIAT THT o T1T e d 5i= aret feraa,
TeTat 3T Eal IR ECIHREE LS T & T TR & Shale U U @i Tt 3 el T
Y F-Tohd T TAFd 1 51 AT | el Ul &1 A0 51 a7 51 Fiadl # Tiiad T4 e i eaiadt, ge-rsl oy et @
Ui g HHAT 7, T gl 11 Aehd T g fof ick T T &7 et & Teede 31 ieaT g sam T g1 Uer-Ue W ST dfi-wdt
FT o U deg, & ol <17 = TeRT 1T w2 ﬁqu&wﬁmaﬁ—dﬂmﬁﬁaﬁqﬁ T T T THT & AT
SSEd T TR S 4 SIged B 0 agd ST9 H T B WA Wb e gl o1 WeRTe T 7 1T, TelT were oy St o e g

Sub questions

Question Number : 96 Question Id : 5459279794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e | Tepamatt &l TeAert @7 auid oy ZrT 51T 87

Options:

1. % @ag

2. ® gt
3 % et

4 & seaf

Question Number : 97 Question Id : 5459279795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teraor war § T 2 g1 wear 27

Options:
1. % geamat
2. % Tt

3 ¢ ugrf
4 ® gt

Question Number : 98 Question Id : 5459279796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e, o STJAR ST 8T saeT e a7

Options:



1. % R
2. o FieET
3. % merf
4, % giriead

Question Number : 99 Question Id : 5459279797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=it & T - AT SifTed T e A 2

Options:

1. & Ferfage
2, % e
SRR

4 % s

Question Number : 100 Question Id : 5459279798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=H A T PIE IUgH Je
Options:

1. % v oY e ger

2. % Teirfd offv uicleertd

3. ¥ T AT E0 wel

4 % icET & wer
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Group Maximum Duration :
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Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
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Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Pane:
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6
545927486
0

0
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0
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Disciplinel
545927486

1

Online
Mandatory
20
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Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927584
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459279799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in1 the blanlk with correct option from below.

The Preamble of the constitution of India began with the words
Options:
1. ¥ "We the people’ of India.

2. # ‘Parliament of India’
Z. #® ‘Constituent sssernbly’ of India’

4. * ‘Gowernment of India’

Question Number : 101 Question Id : 5459279799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o T T 1T & AT 59 feal o 51a7 51 99 7 & 951 Fa¢ T =0 Fira

Options:

1. & THANT & anr

= R Owg & gag

3. ® T o i '
4, ® GNT TWET

Question Number : 102 Question Id : 5459279800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Right to free and compulsory education has been provided under which of the following articles of the
constitution of India?

Options:

1. % Article 19

2 % Article 21

3. ¥ ATHCle 21 - A
4 % Article 22

Question Number : 102 Question Id : 5459279800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W & Aieren & Torr argeae o T afemr U arfvemed T @ siféerr e fra mmam 7

Options:

1. % aredg 19
2 % areg 2l
3 ¥ aifdg 21 A
4. ¥ spEog 32



Question Number : 103 Question 1d : 5459279801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the CORRECT staternent from below options:

Options:

1. ® Fundamental Rights are not enforceable.
2. ¥ Fundamental Duties are not enforceable.
=, % Directive Principles are enforceable.

4. % Fundamental Eights cannot be amended,

Question Number : 103 Question Id : 5459279801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T et # & Tal e @7 =g @

Options:

1 % e s w2

o> o i e A et A

2 ® W - Tdaw WMeged ndada 2l

4 % i et # g 72 R ST a2

Question Number : 104 Question Id : 5459279802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Article 123 of the Constitution of India deals with
Options:

1. # Election of the President of India

2. % Parliamentary Privileges
= % Appointment of Judges in High Court
4. ¥ Power of President to promulgate Crdinance

Question Number : 104 Question Id : 5459279802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W o T & affedg 123 BT Hae _________ 2l

Options:

1. % g & e & gAaE o

2 % gagr e &

z. % g g ¥ it & i

4. & TIEUTT BT STEATE ST e ki il &

Question Number : 105 Question Id : 5459279803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following schedules of the Constitution of India deals with “Provisions as To Disqualification on
the ground of defection?”

Options:
1. % Seventh Schedule
= % Tenth Schedule



2. % Ninth Schedule
4 % Fleventh Schedule

Question Number : 105 Question Id : 5459279803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o Gicre= o W § & @9 & U6 @7 Gae S 9o o ST 0 ST a5 | 27

Options:

1. % gt uiide
2. ¥ g i
3. ® T oidde
4, % T v

Question Number : 106 Question Id : 5459279804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following sections of the Indian Penal Code malke provision for application of the code to extra-
territorial offences?

Options:

1. % Section
2. % Section 8
3. ¥ Section 4

4 % Section 11

Question Number : 106 Question Id : 5459279804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g & & wd T or AT & @ O e A e st O ane # wrereT W 27

Options:
1. % guT13

o % ETE
SW AT 4
4 % gwT1l

Question Number : 107 Question Id : 5459279805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 21 of the Indian Penal Code defines;

Options:

1. % Judge

2. ¥ Public Servarnt
2. % Public

4 % Persom

Question Number : 107 Question Id : 5459279805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WS 1 g digar @l amer 21l ______ T OCATET T T 2l

Options:



1. % —rmeftar
2. wiw Tdw
3. % ST
4. % =i

Question Number : 108 Question Id : 5459279806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Section 82 of the Indian Penal Code-MNothing is an offence, which is done by a child under -
_______ of age.
Fill in the blank from correct options below:

Options:

1. ¥ Seven years
2. % Eight vears
3. % Twelve vears

4. % Fourteen years

Question Number : 108 Question Id : 5459279806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WRA 12T 30 |IEaT @ 4R 82 & SIJHR UF dTel e A T HH L, T ST T e #1E AT w s gt A

Options:

1. v &g g
2. ® arE o
% % grgad
4, ¥ g ad

Question Number : 109 Question Id : 5459279807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘4’ joins on insurrection against Governrment of India: & has committed which of the following offence?

Options:

1. ® Criminal Conspiracy
2. % Abetment of mutiny
3. % Sedition

4. % Waging war or abetting waging of war against the Government of India

Question Number : 109 Question Id : 5459279807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T TR F fgig fHvaa § giFhfeT ghT 8 A 3 FeRET 8 9 ataer s e g7
Options:

1. ® aRTEw 9297

2. ® FTET o o STET

% % Ty

4 ' T TFR & g Jeg 9241 SRTaT q2g 8- 1 SHamT F




Question Number : 110 Question Id : 5459279808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 354 - A making sexual harassment as punishable offence was added in the Indian Penal Code vide

Options:

1. % Criminal Law (Amendrment) Act, 2013
2. % Criminal Law (Amendment) Act, 2015
3. % Criminal Law (Amendment) Act, 2018
4. % Criminal Law (Amendment) Act, 1993

Question Number : 110 Question Id : 5459279808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 354 — A T T 1907 FT U TS ST AT AN 1 302 Higar § o 989 ST mar?

Options:

1. & aroETieer TEmer (e arfafaem, 2013
o % amrrreey e (wartee arfdiem, 2015
3. % gmETreer T (e arfaiaem, 2018
4. % amrrreey ST (wartee) artaieaaE, 1993

Question Number : 111 Question Id : 5459279809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Droit Administratif’ is the term used for Administrative Law in which of the following countries?

Options:

1. % Gerrmany
2. % Sweden
2. ¥ France

4. % IS4

Question Number : 111 Question Id : 5459279809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘BT UEhie i wamatae Tt & def § e vy @ vafag &2
Options:

1. % ST

2 % wEd

3 v mE

4. ® e T Tl

Question Number : 112 Question Id : 5459279810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwho has said that, "Administrative Law deals with the organization, functions, powers and duties of
administrative authorities?”

Options:
1. % Ivor Jennings
2 % K.C Davis



2. % Julius Stone
4 % 4% Dicey

Question Number : 112 Question Id : 5459279810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T, waa e STtEe T W@ Thad, T, SiedT U fd ol | Gee TEd i g1 AT e @R a7
Options:

1. ¢ amgay A

2 ® Fdl 2|

3 % JEEE

4 ® 1 o =rEt

Question Number : 113 Question Id : 5459279811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Montesquien is known as profounder of the doctrine of
Options:

1. * Rule of Law

= % Separation of Power

= % Natural Justice

4. % Legitimate Expectation

Question Number : 113 Question Id : 5459279811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A Eqg @ ______ o [regTg @ ST Ed | AT AT )
Options:

1. ® =57 - w

2. ¥ it T iarae

% % gplde g
4. ¥ T T e

Question Number : 114 Question 1d : 5459279812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Audi altevern parturn is cne of the essential components of the concept of _______

Options:
1. % HMatural Justice

2. % Administrative discretiorn
3. % Administrative RBule making

4 % COmbudsmEan

Question Number : 114 Question Id : 5459279812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIET ST U T § 9 T e T e STTe 2 9T 31
Options:

1. & urtde



2. % gt How
= ¥ mumEw fEtEr e
4 % FiEuT

Question Number : 115 Question Id : 5459279813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_______ 15 a judicial remedy issued by Supreme Court or a High Court to a statutory or non-statutory agency
to do or forbear from doing a public duty or statutory duty ™

Options:

1. * Prohibition
= % Certiorari
3. ¥ Mandamus

4. % Juo Warranto

Question Number : 115 Question Id : 5459279813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

CorrectMarks 1 Wrong Marks: 0.25

L e UHT =22 S0 &, A7 ey ~aTaTee SRTar 95 -araTe g et Srermiee Srerem i Sy dw & #iw 1w
m%ﬁmﬁﬁ%@ﬁ%m%

Options:
1. % fder
2. % g

Question Number : 116 Question Id : 5459279814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Section 2 ) of the Indian Contract Act, 1872, ‘every promise and every set of promises, forming
consideration for each other

Options:
1. ¥ is an agresrment

= % are called reciprocal promises
3. % isa contract

4. % iz called consideration of promise

Question Number : 116 Question Id : 5459279814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬂﬁaﬁaﬂﬁweﬁﬁaﬁlamfﬁmz ) o SIET FY U e 31 U ST o §Y U e, S U gas & et Hide § oy

Options:

1. v IR

2. % cdwes S FEAT &)

3. % Wiy

4, % Z=F ¥ o idma e 8l



Question Number : 117 Question Id : 5459279815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 14 of the Indian Contract Act, 1872 defines.

Options:

1. % Free consent
2. % Coercion

2. % Consent

4. % Undue influence

Question Number : 117 Question Id : 5459279815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AN = Hicar SIET-am 1572 & aRT 14 T3 UiedTtd #ed 57

Options:

1. & w7 Aghie
2. % miiEq

3. ® Al

4 % | gae

Question Number : 118 Question Id : 5459279816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Section 71 of the Indian Contract Act, 1872, "4 person who finds goods belonging to another,
and takes thern into his custody, is subject to same responsibility as a

Options:

1. % Agent
2. ¥ Bailee
2. % Eailor

4. % Surety

Question Number : 118 Question Id : 5459279816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W 1or |l amtafeem, 1872 & oRT 71 & S gy oath, A1 T S0 ®T ATAaT T STReT 7 6iaT &, SHY Soiardcd &
szl ¢ el areared= HEIE

Options:

1. % oz

2. ¥ SAdSK

3. % FAET TG
4 % gl

Question Number : 119 Question Id : 5459279817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Section of the Indian Contract Act, defines ‘contract of indermnity?

Options:
1. % Section 74

o % Section 59



= % Section 124
4 % Section 128

Question Number : 119 Question 1d : 5459279817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % #ET 74

2. % fgETEa

39 AW 124

4. ® T 126

Question Number : 120 Question Id : 5459279818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The doctrine of 'unjust - enrichment’ has been incorporated in which of the following sections of the Indian
Contract Act, 15727

Options:

1. % Section 64
2. % Section 62
2. % Section 61
4. ¥ Section 85

Question Number : 120 Question Id : 5459279818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Discipline?

Section Id : 545927487

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 5450927585
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5459279819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate staternent from options below:

Options:

1. % Tortisa breach of contract
= % Tort is a breach of trust

3. % Tortisa crime

4. % Tort is a civil wrong

Question Number : 121 Question Id : 5459279819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % guepld @lere &7 5= g1

2. % gEpTT I W R R

3. % gEpld U@ STRT g

4. ¥ gEpld Uw AR e S )

Question Number : 122 Question 1d : 5459279820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following rermedies is not available for torts?

Options:

1. ®¥ Damages
2 % Injunction
2. ¥ Punishrmernt

4. % Restitution of property

Question Number : 122 Question Id : 5459279820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gl
2 ® ey
2 T

4. % |uid @7 g

Question Number : 123 Question Id : 5459279821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the CORRECT statermnent from Options belows

Options:

1. In India the Law of Torts is not codified.

2. % InIndia the Law of Torts is codified.

= % In India the Law of Torts is partially codified.

4 # In India the Law of Torts is covered under Indian Contract Act.

Question Number : 123 Question 1d : 5459279821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 124 Question Id : 5459279822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Consumer Protection Act was enacted in India in which of the following yeary

Options:

1. % 1995
o % 1993
3. % 2000
4. ¥ 1988

Question Number : 124 Question 1d : 5459279822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 1995

= #® 1993
= ¥ 2000
4 ¥ 1986

Question Number : 125 Question Id : 5459279823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The MNational Cormrnission, according to Section 21 of the Consumer FProtection Act, 1988, shall entertain
complaints where the value of Goods or Services or Compensation if any, claimed, exceed

Options:

1. ¥ Rs 50Lakhs
Z % Rs. 70 Lakhs
3. % Rs. B0 Lakhs
4. % Rs. 1 Crore

Question Number : 125 Question Id : 5459279823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 50 @FF w0

o ® 70 0T TS

2. ® 20 & B
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Question Number : 126 Question 1d : 5459279824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following has narrated the objectives and guiding principles of Environmental studies?

Options:

1. #¥ UN General Assernbly
2. ¥ UNESCO

3. ® UNICEF

4. % LD

Question Number : 126 Question Id : 5459279824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e g W

2 & AT

3. % FHAEm

4, ¥ araeier AW amad

Question Number : 127 Question 1d : 5459279825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Envircrumnent Protection Act was enacted in the Year:

Options:
1. ¥ 19586

2. % 1934
3. % 1991
4 % 1992



Question Number : 127 Question 1d : 5459279825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TferT SeaT srtiteam e o # arfer e mar e
Options:

1. % 1986

2. % 1954

3% 1991

4 % 1992

Question Number : 128 Question Id : 5459279826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Section 2 of the Environment Protection Act. Empowers
ETIVIFOIITIeTL

to take measures 1o protect and improve

Options:

1. % State Governments

2. % Local Self Governmernt
2. ¥ Central Government
4. % High Courts

Question Number : 128 Question Id : 5459279826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % T TN &l
2. % i et @
3 Gg WA @

4, % g mETAG, W

Question Number : 129 Question Id : 5459279827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich Section of the Environment Frotection Act make Head of the Governiment Departrment liable for offence
cormmitted under the Act?

Options:

1. % Section 17
2. % Section 16
2. % Section 10

4. % Section 20

Question Number : 129 Question Id : 5459279827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. % fNT 16
3% T 10
4 % @120

Question Number : 130 Question Id : 5459279828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The United MNation Conference organized at 'Rio de Janeire' in 1992 15 also knowt as:

Options:

1. ¥ Kyoto Protocol
2 % Earth Surnrmit
2. % Tokyo Surmmit

4 % Stockholm Surrrmit

Question Number : 130 Question Id : 5459279828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® FgEracee
2. o gt ared
z ® i e

4. ® EIEE A A

Question Number : 131 Question Id : 5459279829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich provision of the Evidence Act, 1872 states that, ‘Evidence may be given of facts in issue and relevant
facts?

Options:

1. % Section &
2. % Section 3
3. ® Section 10

4 % Section 11

Question Number : 131 Question Id : 5459279829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 g1 S

2 % NI 3
3% W10
4 % gwT1l

Question Number : 132 Question Id : 5459279830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the following staternents. Select the correct answer from options below:

A& Mo confession made to a police officer shall be proved as against a person accused of any offence.
E. The contents of documents may be provided by primary evidence only.

Options:

1. % Statement ‘A’ is correct, but ‘B’ is not correct
= ® Statement ‘A’ is not correct, but ‘B’ s correct
3. # Statement ‘A’ and ‘B’ both are correct

4. # Statement ‘A and ‘B’ both are not correct

Question Number : 132 Question Id : 5459279830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. g & w518 g B e 8

2. % e 4 AT &, Beg B O9Rlal

3 % g A’ Ud B gl ARl a

4, % oA TdE TH AT 8

Question Number : 133 Question Id : 5459279831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which provision of the Evidence Act, 1822 defines, "May presume, shall presume and conclusive proof?
Options:

1. % Section

2 % Section &

3. ® Section 18

4 % Section 4

Question Number : 133 Question 1d : 5459279831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % w13

2. % gNTS
3% ANT 16
4. % HRT 4

Question Number : 134 Question Id : 5459279832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 112 of the Evidence Act, 1872 deals with:

Options:
1. % Burden of Proof as to ownership

2. % Burden of Proof as to particular fact



2. % Proof of Good faith

4. % EBirth during marriage, conclusive proof of legitimacy

Question Number : 134 Question 1d : 5459279832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 135 Question Id : 5459279833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Crder of examination of witness is laid dowr in which of the following Section of the Evidence Act, 18727

Options:

1. # Section 141
= % Section 148
3. ¥ Section 138
4. % Section 148

Question Number : 135 Question Id : 5459279833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % #wT 141
2. % T 146
3. ¥ YW 138

4 % N7 148

Question Number : 136 Question Id : 5459279834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The term ‘decree’ has been defined in which of the following Section of the Code of Civil Procedure?

Options:

1. % Section 2 (4)
2 % Section 2 (2)
3. ® Section 2 (7)
4. % Section 2 (14)

Question Number : 136 Question Id : 5459279834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 W AnET 2 (2)
3% gNT 2 (7
4 % qET2 (14

Question Number : 137 Question Id : 5459279835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 14 of the Code of Civil Procedure deals with:

Options:

1. * Court in which suit to be instituted
2 % Stay of suit

2. ® Res Judicata

4. % Presurmption as to foreign judgment

Question Number : 137 Question Id : 5459279835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 138 Question Id : 5459279836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Under which of the following Section the Court has been empowerad to impose Compensatory Cost in respect
of false or vexatious claims or defenses?

Options:

1. ¥ Section 35 - A
= % Section 35

3. % Section 34

4. % Section 35 - B

Question Number : 138 Question Id : 5459279836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 sRT35 - A

2. ® YN135

3. ® N34

4 % T35 -E

Question Number : 139 Question Id : 5459279837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Section 80 of the Code of Civil Procedure makes a mandatory provision for issuance of notice before filling of
suit against Governiment. The period of notice should be:

Options:

1. ® Three months
2. % Six months
3. ¥ Two months

4 % Cme month

Question Number : 139 Question Id : 5459279837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % faage
o % T
3. ¥ grugH
4. % TH AR

Question Number : 140 Question Id : 5459279838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Frowvision for ‘Inherent powers of Court” are laid down in which of the following Section of Code of Civil
Procedure?

Options:

1. % Section 100
= % Section 151
2. % Sectionn 150
4. % Section 144

Question Number : 140 Question Id : 5459279838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % g7 100
2. ¥ ¥NT 151
I % W1 1E0D
4. % N1 144
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Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline=
Section Id : 545027488
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
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Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5459279839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Code of Criminal Procedure Section 2 (C) in a cognizable offence, a police officer may
Fill in the blank with correct option:

Options:

1. % arrest without warrant

2. # arrest only if the warrant is issued
3. ® cannot arrest

4. % request a person to co-operate in investigation

Question Number : 141 Question Id : 5459279839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question Id : 5459279840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 25 - A of the Code of Criminal Procedure empower the State Government to establish

Options:
1. % Public Prosecutor

= % Special Court



2. % Fast Track Court

4 % Directorate of Prosecution

Question Number : 142 Question Id : 5459279840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Arw s

2. % Ter e
3. ¥ BT IF I

4. ¥ aEEE S

Question Number : 143 Question Id : 5459279841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 144 of the Code of Crirminal Procedure deals with

Options:
1. ¥ Power to issue order in Urgent cases of nuisance or apprehended danger:

2. % Power to issue injuncton
3. % Power to arrest

4. % Power to direct investigation

Question Number : 143 Question 1d : 5459279841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 144 Question Id : 5459279842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which prowision of Code of Criminal Procedure require legal aid o accused at State expenses. If the accused is
ot represented by a pleader?

Options:

1. # Section 202

2. % Section 203
2. ¥ Sectionn 204
4 * Section 307

Question Number : 144 Question 1d : 5459279842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gwT 302
= ® T 303
3. ¥ gWT 304
4. ® 4E1 307

Question Number : 145 Question Id : 5459279843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fower of revision under Section 401 of the Code of Criminal Procedure can e exercised Ly

Options:

1. % Supreme Court
2. % High Court

3. % Court of Session

4 % Trial Court

Question Number : 145 Question 1d : 5459279843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 146 Question Id : 5459279844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Universal Declaraticon of Human Rights (UDHE) was adopted by General Assermbly of United Nations on

Options:

1. % 10 Decernber 1948
2. # 1 January 1948

2. % 20 January 1948

4. % 5 June 1950

Question Number : 146 Question Id : 5459279844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 10 fearr 1948
2. % 1 FAE 1948
3. % 30 FT 1948
4 ® 5FT1950

Question Number : 147 Question Id : 5459279845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The first global Conference on hurman rights was held at _______ in1 the year 1365,

Options:

1. % Vienna
2. % Geneva
3. ¥ Tehran

4. % New York

Question Number : 147 Question Id : 5459279845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fauar
2 ® S
3 ¥ dEH
4 % gaTE

Question Number : 148 Question Id : 5459279846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Under which of the Regional Conventional Charter of Hurnan Rights, Court of Human Rights was established,
which grant access to individual?

Options:

1. % European Convention for Protection of Hurman Rights and Fundarmental Freedoms.
2. % American Convention on Hurnan Rights.

2. % African Charter on Hurman Rights.

4. % ‘The Arab Cormrmission on Human Rights.

Question Number : 148 Question Id : 5459279846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & AIaTeerRl Ue Urd Sad-aarait o e o J I Tl
2. % grrantiet & et aiver

3. % AT W e =

4. ¥ [T BT 37 ST

Question Number : 149 Question Id : 5459279847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Maticral Hurman Rights Cormrnission was established in the Year

Options:
1.9 1993

2. % 1995
3. % 1994
4. % 2000



Question Number : 149 Question 1d : 5459279847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1993
= % 1995
3. % 1994

4. % 2000

Question Number : 150 Question Id : 5459279848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Chairperson and other members of the National Hurman Fights Cormurission are appointed by
Options:

1. ¥ President of India

2. % Prime Minister
2. % Chief Justice of India

4 # Vire - President of India

Question Number : 150 Question Id : 5459279848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. gug & e

o R geTEET

3. ¥ R FF gEI et
4, % W &F WP

Question Number : 151 Question Id : 5459279849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first chalrpersorn of MNational Human Rights Corrorission?

Options:

1. ¥ Justice M. N. Vankatacholliah
2. ¥ Justice Rarngnath Mishra

3. # Justice ]. 5. Verma

4 % Justice & 5. Anand

Question Number : 151 Question 1d : 5459279849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ATAATTERTE ST oF WA STeay i 47

Options:

1. % e UH. OF. i
2 e T
3. % wrmfd = ue aav




4. % g U U A

Question Number : 152 Question Id : 5459279850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following section of the Protection of Human Rights Act makes provision for Human Rights
Courts in each district?

Options:

1. % Section 17
2. % Section 20
2. ¥ Section 20

4 * Section 28

Question Number : 152 Question 1d : 5459279850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % guT17
= ® guTZ0
3 ¥ gET 30
4. ® HNT28

Question Number : 153 Question Id : 5459279851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trade Eelated Intellectual Property Rights (TRIPS) Agreement is an integral part of

Options:
1. % WIPD

2 ¥ WTO
3. % UM
4. % [LO

Question Number : 153 Question 1d : 5459279851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Zewg oS UT 81T (WIPO)

2 ¥ ZeFg f AT (WTC)

3. % ggw Oy (UN)

4. % TS U AT (ILO)

Question Number : 154 Question Id : 5459279852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 14 of the Copyrights Act, 1957 deals with

Options:
1. ¥ Meaning of Copyright



2. % Registration of Copyright
3. % Copyright Societies
4. % Copyright Board

Question Number : 154 Question Id : 5459279852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. FTdRTEE 7 3w

2 % FTRET & UFawor
=z ® FRTZE GEReT
4 % FRET A2

Question Number : 155 Question Id : 5459279853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
List of non - patentable inventions is enumerated in which of the following sections of the Patent Act, 19707

Options:

1. %* Sections 7 and 2

2. % Sections 10and 11
3. % Sections 20 and 29

4 % Sections 3 and 4

Question Number : 155 Question Id : 5459279853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g 7 0T 8
2 % g loTuT 11
3. % eEn 20 U9 29
4 o RT3 UT 4

Question Number : 156 Question Id : 5459279854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to section 53 of the Patent Act, 1970 the term of Patent shall be 20 years from ______.
Options:

1. % Date of filing of application

2. % Date of grant of Patent

3. % Date of submission of specifications

4. # Date of opposition

Question Number : 156 Question Id : 5459279854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 157 Question Id : 5459279855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Power for revocation of patent in a counter claim in a suit for infringement lies with ______.
Options:

1. % High Court

2. % Controller of Patent

3. % Intellectual Property Appreciate Board

4. % Suprerme Court

Question Number : 157 Question Id : 5459279855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ 3 -aEag

2. ® i el
3 ® Sligw duar aid dig
4. # \dig waEET

Question Number : 158 Question Id : 5459279856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inn September 2015, the Central Governrnent has launched MNational Healthcare Protection scherne by providing
free healthcare insurance. The scheme is known as

Options:

1. # Swachh Bharat Abhivan
2. % Healthy India Scherme

2. ¥ Avushrman Bharat Yojna

4. % Swasthva Jan Abhivan Yojna

Question Number : 158 Question Id : 5459279856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % TRy vRT e

2. T T A

=z, ¥ TEAT R AT

4. ¥ T A S AT

Question Number : 159 Question Id : 5459279857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

The Transportation of Human Organs Act was passed in the year
to include word ‘tissues.’

and was further amended in the year

Options:

1. % 2002 and 2008
2. % 1994 and 2007
3. ¥ 1994 and 2011

4. % 1996 and 2010

Question Number : 159 Question Id : 5459279857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 2002 g 2008

2. % 1994 U7 2007

3. v 1994092011

4 ® 1998 g 2010

Question Number : 160 Question Id : 5459279858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following has been completely banned by the Surrogacy Eill, 20167

Options:

1. % Altruistic surrogacy
2. ¥ Comimercial surrogacy
2. % Surrogacy in ad forms

4. ® Termination of pregnancy

Question Number : 160 Question Id : 5459279858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ferere, 2016 gry g # & fore quf 0 & uidatea @ faar mar 22

Options:

1. % TR /s

2 sHEETEd ATt
3. ® faam w=uf # S

4. % T & wETE
Disciplined
Group Number : 9
Group Id: 545027489
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20



Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline
Section Id : 545927489
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927587
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5459279859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to section 4 of the Medical Termination of Pregnancy Act, 1971, the termination of pregnancy of a
worran who has not attained the age of eighteen years shall not be terminated uriless a written permission of
her is obtained.

Options:

1. % father
2. % mother
2. % husband

4 % guardian

Question Number : 161 Question Id : 5459279859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fuar
2. % {ET
3 % i
4 & gTgw

Question Number : 162 Question Id : 5459279860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which section of the Pre-conception and Pre-MNatal Diagnostic Techniques Act, 1994 deals with regulation of
Pre-natal diagnostic techniques?

Options:
1. % Section =



2. % Section 4
S % Section 6

4 % Section 7

Question Number : 162 Question Id : 5459279860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % guT3
2. ¥ U 4
3. % N6
4 % HqET7

Question Number : 163 Question Id : 5459279861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section € of the Pre-conception and Pre-MNatal Diagnostic Techniques Act, 1994 has

Options:
1. % Prohibited determination of sex of a foetus

2. % Prohibited sex-selection of foetus
3. % Prohibited cormmmunication of sex of fostus

4. % Prohibited sale of ultrascund machines to clinics not registered under the Act

Question Number : 163 Question Id : 5459279861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRFRIOT O 3 QUi WRIfdeF g a1 Srrei-m, 1994 @ Ry grT e Aidared w7 i mar 87

Options:

1.« T o Tolm @7 frerfeor

o % mf & H w T

3. % e @ Tl T T A

4. ¥ I aUTHAT W SEETEEE B S U UTea T St ATeeew #F aieatig uteda gl 8l

Question Number : 164 Question Id : 5459279862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich provision of The Mental Healthcare Act, 2017 states that every person with mental illness shall hawe the
right to live with dignity?

Options:
1. ® Section 18

2. % Section 20
2 %® Section 19

4. % Section 22

Question Number : 164 Question Id : 5459279862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % guT 18
=z ¥ T 20
3% guT 19
4. ® T ZZ

Question Number : 165 Question Id : 5459279863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fead the fOllDWiI‘lg tw( staterments and select the corract option from below:

& Forensic Science is the application of science to Criminal Law and Civic Law.
E. Forensic scientists collect, preserve and analyse scientific evidence during course of investigation.

Options:

1. ® Statement ‘A’ i3 wrong, but ‘B is right
= % Staterments ‘A’ and ‘B both are wrong
3. ¥ Staterments ‘A and ‘B both are right

4. # Statement ‘A’ is right but ‘B’ is wrorng

Question Number : 165 Question Id : 5459279863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 99 & ToAT &, g B Aal 2l

2 % o A UIE T TAT 21
% o T A UTE ST T51 8
4 % g A Wt e, Beg B e

Question Number : 166 Question Id : 5459279864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Forensic scientist testify as

Options:
1. ¥ Expert witriess

2. * Privileged witness
3. % Accomplice

4 % Prosecution witness

Question Number : 166 Question Id : 5459279864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. T e
2. % TRamrden Ty

3. % wg aArigw
4 % e TETE

Question Number : 167 Question Id : 5459279865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Marsh test is related 1o ______.
Options:

1. ¥ Toxicology

2. % Fingerprints

3. # Ballistics

4. % Anthropometry

Question Number : 167 Question Id : 5459279865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ Y e &

2 % it fam a

3. ® g
4 % gHEoinE e

Question Number : 168 Question Id : 5459279866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Use of fingerprints in identification of criminals was first advocated by:
Options:

1. ¥ Williarm Herschel

2. ® Paul Uhlenhuth

3. % Alec Jeffrevs

4 % Herm Chandra Bose

Question Number : 168 Question Id : 5459279866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & gda
2. % TF Ireige
3 ® el e

4 % ZHTO= TN

Question Number : 169 Question Id : 5459279867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
DMNA profiling in forensic science was pioneered in the year



Options:

1. % 1984 ; Alec Jeffreys

2 % 2001 ; Mikey REochrman
= % 1999 : Frances Glessner
4. % 1998 ; Hans Gross

Question Number : 169 Question Id : 5459279867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I B H ELTAT (DNA) TIETS e & gEsma ad ______ L S FRETRIE
Options:

1. % 1984 ; Udtw She

2. % 2001 ; ATES T

3. % 1994 ; BEE e

4. % 1996 ; gra U

Question Number : 170 Question Id : 5459279868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In India the first Fingerprint Bureau was established in ______ at ______.
Options:

1. ¥ 1905 ; Bombay

2. % 1897 : Calcutta

3. % 1910 ; Delhi

4. % 1950 : Madras

Question Number : 170 Question Id : 5459279868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 1905 ; g7
2 % 1597 ; TaEdT

2 % 1910 ; Teedt
4 % 1950 AINT

Question Number : 171 Question 1d : 5459279869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study of crime, society’s response and its prevention is knowr as:

Options:

1. #¥ Penology

= % Sociology

2. ¥ Criminology
4. % anthropology

Question Number : 171 Question Id : 5459279869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gz ame

o ® g AT

3. ¥ SIRTTERr ST

4. % FATETE B

Question Number : 172 Question Id : 5459279870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The lig detector test 15 kriowtl as
Options:

1. ¥ Polygraph Test

2. % DHMNA figure print test
3. % DA Test

4. % Drug defection test

Question Number : 172 Question 1d : 5459279870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5 UhS- o LI T FAT Fgl ATaT 57

Options:

1. & UTAMTE o

> ® 2 U9 U iGeinE i
3 % ET A Ui

4, % ZI7{Ehgae deT

Question Number : 173 Question Id : 5459279871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mischief Rule of interpretation of Statute was laid down in which of the famous case?

Options:

1. ¥ Heydon's Case
2. % Foster's case
3. #® Derry vs Peak

4. % Murray vs [RC

Question Number : 173 Question 1d : 5459279871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ gea @ ad
o R I T e
3. ® 2T eem g

4 % gl aam A%, AW G (RC)

Question Number : 174 Question Id : 5459279872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of the following is not admissible as internal aid to construction of statute?

Options:

1. % Long Title of the Act
2. % Proviso

3. ¥ Parliamentary History

4 % Schedules

Question Number : 174 Question Id : 5459279872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % arfarfaay &7 g AW
o % Tm

= ¥ gELg TiagE

4. % mieide

Question Number : 175 Question Id : 5459279873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Meaning of the words should be known from its accompanying or associated words. This principal is knowr
as:

Options:

1. % Ejusdern Generis
2. % MNoscitur A S0ciis
2. % Casus Omisus

4 & Expressio unius st exclusio alteriug

Question Number : 175 Question Id : 5459279873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % @ S

2 FitEge U At

3. ® sy itEy

4 % TR gieE TEC UFEeE [T alwe e

Question Number : 176 Question Id : 5459279874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taxing statutes are givern ______ interpretatior.

Options:
1. % Strict

2. % Liberal
3. % Purposive

4. # Presurmptive



Question Number : 176 Question Id : 5459279874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ Far

2 % JEw

3. % IR WE

4 % IgAE ¥ g

Question Number : 177 Question Id : 5459279875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fundamental rules of pleading emanates from the requirement of order _____ R ______ of the code of Civil
Frocedure.

Options:

1.v vl ;2
2 % VI 1
3 RIS
4 % 3.1

Question Number : 177 Question Id : 5459279875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9V 2

Z % VI 1

3. %1005

4. % v .1

Question Number : 178 Question Id : 5459279876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not part of external aid to construction of statute?

Options:

1. % Dictionaries

2. % Reference to other statutes
2. % Legal History

4 ¥ Prearmble

Question Number : 178 Question Id : 5459279876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. % Tt giag
4. AT

Question Number : 179 Question Id : 5459279877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The defendant rmust file his written statement within ______ from the date of service of surmmons on him.
Options:

1. % 80 days

2. ¥ 20 days

2. % 90 days

4. % 15 days

Question Number : 179 Question Id : 5459279877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g0 T
2 ¥ 30T
3 % g0 fe
4 % 15f7

Question Number : 180 Question Id : 5459279878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A suit is instituted by the presentation of:

Options:

1. % Plaint

2. % written staternent
3. % Memo

4. % Counter clairm

Question Number : 180 Question Id : 5459279878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ TEne

2. S g
3 % oot

4 % giggmar
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Question Number : 181 Question Id : 5459279879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& SwWOrTl staternent in writing made especially under cath before an authorized officer is termed as:

Options:

1. ® Declaration Letter
= % Staterment Letter
3. ¥ Affidavit Letter

4. # Sybmission Letter

Question Number : 181 Question Id : 5459279879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gmur o
2 % e
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4 ® TEeaug

Question Number : 182 Question Id : 5459279880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article 1 of the Constitution states: ‘India, that is Eharat, shall be

Options:



1. ® Unitary states
2. % Federal states
= % Union of states

4. % Group of states

Question Number : 182 Question Id : 5459279880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 183 Question Id : 5459279881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete the sentence with the correct words from Options giverl Delomw

The art of convevancing Cconsists in the preparation ______.
Options:

1. % of evidence

Z % of facts

2. ¥ of docurnents

4. % of pleadings

Question Number : 183 Question Id : 5459279881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % @y

2 % T

= ¥ TEaEe

4, % afyaeq

Question Number : 184 Question Id : 5459279882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Conveyancing has been defined as comprising all those transactions by which
betweerl persons are brought into existence.

Options:

1. ¥ Legal right ; legal relations
= % Rights ; relations

3. % Equitable rights ; relation

4. % Duties ; moral obligations



Question Number : 184 Question 1d : 5459279882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. Taferw srfder ; Tatem Hee
2 % grrerEwr ; TEdw dee

3. % T SR e

4 % et ; Afdw gridedl

Question Number : 185 Question Id : 5459279883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct statement from option below:

Options:

1. ¥ Testimonium testifies the fact that parties have signed the deed
2. # There are no set rules of drafting

2. % Attestation is rmandatory

4. % Parties can leave ambiguity in a deed

Question Number : 185 Question Id : 5459279883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 186 Question Id : 5459279884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The clause which defines the size or quanturn of estate to be acquired is known as ______.
Options:

1. ¥ Habendurr

2. % Covenants

2. % Testimonium

4 # Testaturm

Question Number : 186 Question Id : 5459279884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. A=A
2 ® Fmiedw




3. ¥ i
4 % Foiew

Question Number : 187 Question Id : 5459279885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following deed is executed by only one party?

Options:

1. # Deed of Exchange
2. % Bond

3. 9wl

4. % Gift

Question Number : 187 Question Id : 5459279885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Emm e g

= ® de=

3. ¥ FEET

4. % 97

Question Number : 188 Question Id : 5459279886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deed of Will is executed by .

Options:
1. ¥ executor

2. ¥ testator
= * doner

4. % wendor

Question Number : 188 Question Id : 5459279886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fymorEa

2. ¥ gdtaaaal

3. ® gHemEr

4 ® searEr

Question Number : 189 Question Id : 5459279887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Farcel clause contains

Options:
1. % Physical description of property transferred



2. % Testimonial part of deed
3. % Parties to the deed
4 % Date of deed

Question Number : 189 Question Id : 5459279887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 190 Question Id : 5459279888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A deed of transfer is divided into _____ parts.
Options:

1. %5

2 % B

3. %7

4. ¥ 14

Question Number : 190 Question Id : 5459279888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. %5
= %8
3. %7
4 ¥ 14

Question Number : 191 Question Id : 5459279889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who introduced the world wide wely )y

Options:

1. ¥ Tim Berners Lee
2. ® vinton Cerf

3. ® ] C.E.Licklider

4 % Bob Khan

Question Number : 191 Question Id : 5459279889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. & R et

2. ® e ad
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4. ¥ FTEE

Question Number : 192 Question Id : 5459279890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Key of a Key pair used to create digital signature is known as:

Options:

1. % public key
2. ¥ Private key
3. % Algorithm
4. # Kev function

Question Number : 192 Question Id : 5459279890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Hrei-er =me
2 SRR gt
3. % geiiar

4 ® & mwmad

Question Number : 193 Question Id : 5459279891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section 4 of the Information Technology Act, 2000 deals with:

Options:

1. % Legal Recognition of electronic record

2. % Legal Recognition of electronic signature
3. % Delivery of services by service provider

4. % Retention of service records

Question Number : 193 Question Id : 5459279891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 194 Question Id : 5459279892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Functions of the controller are enumerated in section of the Information Technology Act, 2000,



Options:

1. % Section 17
= ¥ Section 12
3. % Section 15

4. % Section 16

Question Number : 194 Question Id : 5459279892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gWT17
2 ¥ guT 18
3. % HgNT 1S
4 #® gET 18

Question Number : 195 Question Id : 5459279893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cornpensation for failure to protect data is provided in which of the following section of Information
Technology Act, 20007

Options:

1. % Section 40

= % Section 43

3. ¥ Section 43 - A
4. % Section 43

Question Number : 195 Question Id : 5459279893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT TR Srfafeam, 2000 & &= € &R § ZTET & GUyT 7 9 0T 51T & 7 W 27

Options:

1. % #1400

2 % guT43

3V T4 - A
4 #® gET 48

Question Number : 196 Question Id : 5459279894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Any 1llegal act that inwolves a cormputer, cormputer Systerm or cornputer network: 15 known as:

Options:

1. %® Social offence

2 % Technology offence
3. % Cyber offerice

4. % Econormic offence

Question Number : 196 Question Id : 5459279894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 197 Question Id : 5459279895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Section & of the Information Technology Act, 2000 deals with:

Options:

1. % Power of controller to give directions
Z % E - COMmImerce

3. % Computer related offences

4. # Tempering with computer source doCuments

Question Number : 197 Question Id : 5459279895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 198 Question Id : 5459279896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which section of Information Technology Act, 2000 ermpowers Central Governimernt or State Government to
issue directions for interception or monitoring or decryption of any information through any cormputer
rescurce?

Options:

1. ® Sectionl 66 - B
= % Section B8 - C
3. ¥ Section 69

4. % Section 70

Question Number : 198 Question Id : 5459279896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gWTEE - B
2. % HqNIBE - C
3 ¥ gETES




4. ® T 70

Question Number : 199 Question Id : 5459279897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The first ever converition on cyber-crimes was held in 2001 at _____ .
Options:

1. * London

2. ¥ Budapest

= % Tokyo

4 % Delhi

Question Number : 199 Question Id : 5459279897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Faa
2 ¥ gEnET
3. ® Tt
4. % TIEer

Question Number : 200 Question Id : 5459279898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which provision of the Information Technology Act empower Central Government to give direction to State
Governments for implementation of the act and rules made there under?

Options:

1. ¥ Section 23
2. % Section 82
2. % Section 84

4 % Section 51

Question Number : 200 Question 1d : 5459279898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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